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Wiy b@j + khwy +ksxe = 0, (4-180 k1 = k1 + ks,

k'z = kz —[—kg

’)’)’Lgfiz + bgﬂ'i?g + ]{)'22)2 ‘{:7635131 = 0, (4—181

;(’- ) ry = Clept, (4"141)
| Normal Mofkﬁsli] ok Dt ,
i w2 = Cae”’, Shase = le cL?J‘ (4-142)
Where C1, Cs are constants. Note that the[same time dependencelis as-
sumed for both z; and z,, in order that the factor e?* Wﬂl cancel out When
b S e —
! -
LY mip® -+ B _ S , (4-145)
C, ~k3 mep” + ks + b 2 P

mimap* + (msby + mibo)p® + (mokl + mikh + bibe)p?
+ (bikh + boki)p + (Kikhy — k3) = 0. (4-182

This equation cannot be solved S0 easﬂy as Eq. (4-147). The four roots
for p are, in general complex. —_
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X
Yy = ==Yy =l ’&.wz
" if two oseil- Wy Zﬁ
lators of different frequency are weakly coupled to?ﬁher thele are two
normal modes of vibration of the system./In one mode, the oscillator of Weo
higher frequency osc1llate§*§t"“a"‘f‘1‘€quency slightly higher than without
couplings and the other oscillates weakly out of phase at the same fre-
quency./In the other mode, the oscillator of lowest frequency oscillates at
a frequency slightly lower than without coupllng, and the other oscillates

weakly and in phase at the same frequency / ;
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